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Which complex below is the one with d-d transition that absorbs photons with
the highest energy?

(A) [CrFe]” (B) [CrCl¢]* (C) [Cr(CN)e]™*

(D) [Cr(NHz)e]** (E) [Cr(H0)e]**

ANS: (C)
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Mn®* < V¥ < Co™ < Fe'* < Ni** < Fe** < Co®" < Mn*" < Mo* < Rh* < Ru™** <
Pd* < Ir*'< "

Ref: Atkins & #

Increasing A (Fixed Ligand}

Mn?* < Co® ~ Ni** ~ Fe®* « V" < Fe** < Cr** < V¥ < Co™ < Mn* < Mo™ < Rh* < Ru™ «
IrP* < Re* < Pt"
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EX: CoClL™, Co*', d7.....

**d0, d10, d5 2 v9 &4 44 A4 B o2 & sp3 i AL Evg @48 5T 4T |

EX: TiCly, Ti*", d0 : Ni(CO)4. Ni(0), d10......
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Ni(CN),”, Ni*', d8, CN(strong field ligand)

PACIL™, Pd*", d8, (4d metal)

PtCl,", Pt*', d8. (5d metal)

CuCl™, Cu®' (A EBTABFHFE®  HRTADEGR)
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CN >NO; >en>NH; > Hy0 > C,04°>HO > F > CI'>Br > T
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